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Learn Korean Ep. 119: X{(£) “In the State Of”

Before we start the lesson, | want to give you a tip to understanding the meaning and
usage of Xi(&); as much as possible, try to focus on the /itera/ meaning of the sentences
used here. Understanding what this form literally means will help you to be able to use it

accurately, and therefore naturally in your own sentences.

Action Verb Stem + 2/ (&)

X means “just as it is, in its current state.” It's used for describing the state of someone or
something. Specifically, it's used to describe the state of action (with an action verb) that

someone or something is currently in.

For example, someone can be in the state of wearing glasses, or the state of lying down.
Something could be in the state of being open or closed. This form can work with many

action verbs.

You could say that you simply sat down, or you could say that you're in the state of having
sat down — the latter simply describes your current state (you are seated right now), while

the former is only expressing an action that happens (you sat down sometime in the pas?).

To make this form, conjugate an action verb into the past tense adjective form. This will
most often mean just taking an action verb stem and attaching 2 after a consonant or L
after a vowel. Note that some verbs have their own conjugation rules, as usual. Then attach
*H(2) - the 2 is optional

stk > 8 1(2)
2Ct > e (@)

az

rlo

AEF QHOl 2 XE HEU0.
He fell asleep (while) seated in front of the table.

Literally this sentence means “In the state of having sat in front of the table, he fell asleep.”

Or more naturally, "He sat down in front of the table, and /n that state he fell asleep.”
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This form will often translate in English as “while” or “when,” but its meaning is different
from other forms such as (2)% and &2}, among others. The (2)™A{ and &2t forms show
that two actions are happening at the same time as each other, but X{(£) is not doing that
- X{(&) is simply describing something’s state and does not emphasize when something

happens.
O 3= =2 A2 MEE & == A0 8.

| can do this much with my eyes closed.

Literally this means “I can also do it in the state of, | closed my eyes.” Or more literally, “I

closed my eyes, and also in that state | can do it.”

Stgd 22 €0 22 M2 ARE ol HE FR.

It's too cold if you take a shower with the door open.

M| S Z2|X] &2 xH= SHofl LIUGEL Z7]0of 2R K.

| went outside without drying my hair and | caught a cold.

FE AFFOl A MZES QF 2 M2 A7 S H2[2 7te.

The next door neighbor keeps throwing out the garbage without a shirt on.

OtFAE BB M= Aot & glojg.

You can't go on living without knowing anything.
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EE AR B2 Mz HSU0 K.

mjo

| fell asleep without taking off my makeup.

X (2) is most commonly used in writing and in formal speech - it's less common in casual
or everyday speech. Instead, use other forms (such as the ~Af or ~11 endings) for casual
and everyday speech. These forms do not work exactly like X{(£), so you will have to pick
the most appropriate one based on the situation. When you want to express “with” or
"without” doing an action, ~1! will be common. When you want to express that something

happens right after doing something (“while”), ~Al will be common.

| fell asleep without taking off my makeup.

Or literally, "I didn't take off my makeup, and (then) | fell asleep.”
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He fell asleep (while) seated in front of the table.

Or literally, "He sat in front of the table, and (immediately) fell asleep.”
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Also one final thing. Note that ~7}Ct and ~2LC} action verbs will not use X{(£) - this is
because X{(£) is used to describe a state of action. X{(£) is not used to describe the state

of something moving somewhere.

Conclusion

If you have any questions, feel free to send me a message through my web site or on
YouTube. Good luck in your studies!
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